Koncyntaumje AJ6 - jyn

® A= [:: jw 44] detiA .

- Q0 < Q it\(_iﬁ:’e/
oA
|
8"0(’2 5/%
| —aH o
® B- [ e téa-2 a—@] = &A}
aeN dpap T
a-? @y H StB =det(et) = e 5
Ty
(—m—vf)(a—@) >0
- —-—-—-—04.,._H,0\__\
4 A
\~—
oc (1,545}
e Bofy et X (o
= - —"b
B 2lh X (o)
&
& A-[2
Do A=1 | det((d L) =52
o 1 3
\A'CAK Ax
o = Ae
el 32 N
x=2
~ N
det(A-e?*) = 9e™



U A - s fax)

deth - Jei’(e’mj = pel*
detA- 2P _ gt
w

424
(cat12)- 207" = 5.2

(Cd+2)-e® = 2e?

S
\!
N

LA = (6 +2)-e**

\l

£ = g €™ (che2). 0025~

= 6”‘( Ct1rd+ 4) =™ (Tot124)

N _/:

_Cg @
Jo)='o
&3(4) =S

gp "o Lty genobe ue wopo- gy (=5
22 24y~ Yp(d = Y () -5

): -5 =05 =
)= 4()-S=5-¢ o})(momw
2(0)=Yl)=0
S qus. W20
J
;Z""Z:'Df’ _2-(0):%(4)-——0
N —
1) plsuize W?«,
Z”—?::O

Hx) = (e e

— —

2) yata. T, W Tp, kope neq. kew idsSseme.



N ¥

81/__0,?3:%(00(,) ,2) nati. %F" w Zp, 1‘\93_4—0/.\62% kﬁi’ﬁ.@a&me
Ay .
0=0: £ dz(0) + p! (1) ~0
040 @ Xty dzﬂéb"’f’??—’l(ﬁv)—‘—o
KnNA: Z{)= (4 KMy He)= [
(o) = =, H(e) =- 4
%f’ﬂ:l']’z
(€) %o.(=) .
) Gt - | T o nerexs
B « 77
H o T ex0- e Je
g i

ot i

4(5)+8 =8y(s) = &4(s)-y(s) =8



